AR RS (SR ) AR R 7--- 55 FLAR DT R ER SRR
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1. (19dcqm) *F =i pH AHIA] . AABUATRI ZUK S SN PIFIRIE R, 23 RE R 5
B, HRRUR IER IR
A. EJEHTIE 20°C, PEWRT pH A
B. MINERFULEE RS, PIERIT pH 35980
C. J/KFFE 100 55, Z/KH c(OH') LA A i i 1/
D. S5EEMEMERIEIREL, FAERE AR TTE— 2
2. (2019cyqz) HEREET, 4 pH AARZAH R ) HCL AT CHaCOOH 43 A In/K ks,
F pH BE IR AT AR A EIFT R . R AIAUR IR 12

A 2k 48R HCI R FE pH
B. W /KBS EE: b ri>c i

¢(CH;COO ) ¢(H") |
C. \b ri®ld &1, T ¢(CH,COOH) MWIEFAE
D. AT, b sl Ky, FIEUEL e sUK a
3. (2019fsqm) =R, RWHHTUIT SZL: IR

@ HL—5E mOKBERR, P fil sk 100 mL 0.1 mol/L P& BRI
@ HY 20 mLOHATECA W, M 20 mL 0.1 mol/L NaOH ¥4 ;
® 4k N amL 0.1 mol/L #i #5RR, & IARAYT pH=7.
N HULE IR A
A. OFVERI pH =1
B. @ EHB: c(Na) > ¢(CHsCO0 ) >c¢ (H")>c(OH")
C. @, a=20
D. @, RIJE#HR: c(Na") = ¢(CH3COO ") + ¢(CI)
4. (2019hdgm) T B TR B S0 7 R A 5 R IR
A. 0.1 mol/L ZUKI) pH£15 11.1: NH3 * HyO === NH," + OH"
B. FHHIHL[KAISO,), * 12H,01fE#KF: AP+ 3H,0 ===Al(OH); (J&14) + 3H"

C. 1] KCrO; ¥ /b &k HoSO, R IR :
CrO2 (Ffa) + HO == 2Cr04* () + 2H*
D. M1 Na,CO; Ak AbFE KI5 1) CaS04:  Ca®t + CO5%~ == CaCOs |

BT =R ARERT (H AT



5. (2019xcgm) =i T, 1L & 0.1 mol CH;COOH #1 0.1 mol CH;COONa VA a S i\ —
52 B SR PR B HRAR S RN pH W R CIAHT a3 A AN D) -

Wi a iE A 0.01 molHCI B\ 0.01 mol NaOH
pH 4.76 4.67 4.85
B a xR, I ESRIREGETRE pH B KRR NS -
THIBLEA IERI

A. ¥ afl 0.1 mol L™ CHyCOOH ¥ CHiCOOH [fJH BSFEFE AT & /N T i
B. [A¥ i a FFiEA 0.01 mol HCIRf, CH,COO 454 HYERL CH;COOH, pHZE{EAR
N
C. [ a #nA 0.1 mol NaOH [El{A, pHIEAAER
D. % 0.1molL *NH; * H,0 5 0.1 mol L NH,CI {178 A ¥t ] (52 b i i
6. (2019 FikHs 1 #EE (HsBO3) s —FheE ZEAAL TISURE, [ iZ N F T30, BR2. JIE

BT 2. —FUBBEER" (% Mg,B0s « H,0. SiO; J2/b&: Fe,03. AbO3) AJFURIAE ™
R B R R B 2 AR

(NH,),S0 TR ]

g -

I}

JpH=3.5

TVEER Hr —=| iR i U 1 H,BO,

' WpH=6.5
Sk — BUEE | Mg(OH), - MgCO, —» 52 F AL EE

S —

NH,HCO,7F 83

EE IR

(1) 7295 °C “Wii” WREH), PRI UATE “Wle” o R Ry

(2) “U8E 17 MEERSH o NS RN 1 RRIER R S E A FE
YT, ARt e .

(3) 4R HiBOs [MARES [ S: H3BO3+H,0 == H*+B(OH) 4 K,=5.81x1071, wJ |
tr H3BO; & fR; 6 “ITPE2” /I, KA pH W2 3.5, HZ




(4) 1E “Yr8e” 4 i Mg(OH), « MgCO; UiiE HIEs 17 12l ,

BHRA A R 5] TFPAEAERT o iR ] 5 P A B
5%

7. (2019cygm) Z P& (H,C,0p) 1HHFRELRR, {ESCESH FUFIALS: TR 2.
(1) T, W5 0.1 mol L H,C0, ¥ I pH = 1.3, 5 AL s 52

(2) BRI R AR T IR ) 73 BB T pH AR R AR 0 R B Foss -

pH

@ [A) R VAR T I KOH VAR pH = 2.5 I R A i B B 25 T R R

@ 0.1 mol L' KHC,O, 3 Wi, FAHRIFIRERREMMZE_ GHFS).
a. c(K")+c(H") =c(HC,0,7) +¢(C,042) +c(OH")
b. c(K")>c(HC,0, ) >¢(C,04") > c(H,C,04)
c. ¢(K")=c(HC,0, ) +¢(C,04") + c(H,C,04)
(3) oMb 1 FH e Uk 5 B g S ) 46 B R At A, LB 7 RN
Fe?* + H,C,0, + xH,0 = FeC,0, xH,0| + 2H"
@ il I T AN ZUK AR 181 FeC,0, XH,0 7738, WAL P R 5 SR £ Rt
J5 A - @ E
BRIV IR (FeC,04 xH,0) I x 8, SZIGUTR:
FRHY 0.5400 g HEFRME Bhef (A0 T — @ E B ER Y, FH KMnO, B M-I e . 3
T 2N, AR 0.1000 mol Lt ) KMnO, 1 7 18.00 mL.
E4n: BT AP, HAEMANA F, CO,, BAEMTLR A Mn?
M| FeC,0, xH,O i x=_ (FeC,0, fIEE /R &S 144 g-mol ™).




